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|:I (1 7
c(t) = Acosg(t) = Acos(a,t + ¢,)

Do
o(t) = ot + ¢
wy = do(t)/dt
- 900

ot) = [ @ O)dt+g,
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c(t) = Acosep(t) = Acos(a,t + @,)
m(t)

o(t) m(t)
(1) = o5t + @, + km(t)

S, (t) = Acosw,t + @, + km(t)]



R

|
w, (t) = o, + k;m(t)
p(t) = [ @, (V)dt+ 0, = oot +k; [ M(t)dt+g,
S¢ (1) = Acod] @t + @, + k; [ m(t)dt]
[ |
0 @(t) m(t)
(1) m(t)
O m(t)
m(t)
]
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(b)

m(t)
m(t) t?
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|-.3_3_2_

m(t)

m(t) = coswt

@ () = o, + k. Mt) = @, +K; cosm, 1

Ki = Adw
O

s, (t) = Acog w,t + K, jcos o, tdt] = Acos ot + (4o ! w,_)sin w_t]
Ao/ @, Aflf,
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]
| B s (1) = Acog ot + K, [ cosa, tdt] = Acos[at + (Aw/ w,)sina,]

Sy (t) = A Jo(My ) cosegt + J, (M, ) Cos@, + @, )t — Cos(@, — @, )]
+J,(m, )[cosw, + 2w, )t + coS(@w, — 2w, )t]
+J,(m; )[cos(@, + 3w, )t —cos(w, —3w,,)t] +- -}

10

‘] n (mf) n 08 Jo(x)
\

0.6 \ J1(x) oY
04 /g(\ ~<‘i\( i<J3(x)\<J4(x )

J,(m;)=J_,(m;) n ot -A1 //<< \}KQ/\K

3(m)=-3,(m)  n AN
L TNDEY T

s () =AY J,(m;)cos(w, + N, )t
N=—o0
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m; <<1
B 20,
B ~2m,
m:>1
B

Bx2Av+®,)
~ 2(Af + f.)

Af
f

kHz

fm=5
kf= kHz
RN
(43
e kHz
Jﬂﬂ:skHz
kf=]D
‘ ‘ m} =20
.|| | ||.
We
kH
fm=5kHZz
k)c=25
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FM

m(t)
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